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Question Id : 68634042837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634042838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340169201. 1

686340169202. 2

686340169203. 3
686340169204. 4

Question Number : 2 Question Id : 68634042839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340169205. 1
686340169206. 2
686340169207 3
686340169208. 4



Question Number : 3 Question Id : 68634042840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401692009. 1
686340169210. 2

686340169211. 3
686340169212. 4

Question Number : 4 Question Id : 68634042841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340169213. 1
686340169214. 2

686340169215. 3
686340169216. 4

Question Number : 5 Question Id : 68634042842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340169217. 1
686340169218. 2
686340169219. 3
686340169220. 4

Question Id : 68634042837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634042838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340169201. 1
686340169202. 2
686340169203. 3
686340169204. 4

Question Number : 2 Question Id : 68634042839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340169205. 1
686340169206. 2
686340169207 3
686340169208. 4

Question Number : 3 Question Id : 68634042840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340169209. 1
686340169210. 2
686340169211. 3
686340169212. 4

Question Number : 4 Question Id : 68634042841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340169213. 1
686340169214. 2
686340169215. 3



686340169216. 4

Question Number : 5 Question Id : 68634042842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and tallkies were destined to become obsolete
4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340169217. 1
686340169218. 2
686340169219. 3
686340169220. 4

Sub-Section Number : 2
Sub-Section Id : 6863401404
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634042843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340169221. 1
686340169222 2
686340169223. 3
686340169224. 4



Question Number : 6 Question Id : 68634042843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340169221. 1
686340169222 2
686340169223. 3
686340169224. 4

Question Number : 7 Question Id : 68634042844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340169225. 1
686340169226. 2
686340169227. 3
686340169228. 4

Question Number : 7 Question Id : 68634042844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340169225. 1
686340169226. 2
686340169227. 3
686340169228. 4

Question Number : 8 Question Id : 68634042845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340169229. 1
686340169230. 2
686340169231. 3
686340169232. 4

Question Number : 8 Question Id : 68634042845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340169229. 1
686340169230. 2



686340169231. 3
686340169232. 4

Question Number : 9 Question Id : 68634042846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340169233. 1

686340169234. 2

686340169235. 3
686340169236. 4

Question Number : 9 Question Id : 68634042846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340169233. 1
686340169234. 2

686340169235. 3
686340169236. 4

Question Number : 10 Question Id : 68634042847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340169237. 1
686340169238. 2
686340169239. 3
686340169240. 4

Question Number : 10 Question Id : 68634042847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340169237. 1
686340169238. 2
686340169239. 3
686340169240. 4



Question Number : 11 Question Id : 68634042848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340169241. 1
686340169242. 2
686340169243. 3
686340169244. 4

Question Number : 11 Question Id : 68634042848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340169241. 1
686340169242. 2
686340169243. 3
686340169244. 4

Question Number : 12 Question Id : 68634042849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340169245. 1
686340169246. 2
686340169247. 3
686340169248. 4

Question Number : 12 Question Id : 68634042849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340169245. 1
686340169246. 2
686340169247. 3
686340169248. 4

Question Number : 13 Question Id : 68634042850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340169249. 1
686340169250. 2
686340169251. 3
686340169252. 4

Question Number : 13 Question Id : 68634042850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340169249. 1
686340169250. 2
686340169251. 3
686340169252. 4

Question Number : 14 Question Id : 68634042851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340169253. 1
686340169254. 2
686340169255. 3
686340169256. 4

Question Number : 14 Question Id : 68634042851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340169253. 1
686340169254 2

686340169255. 3
686340169256. 4

Question Number : 15 Question Id : 68634042852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340169257. 1
686340169258. 2

686340169259. 3
686340169260. 4

Question Number : 15 Question Id : 68634042852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340169257. 1
686340169258. 2

686340169259. 3
686340169260. 4

Question Number : 16 Question Id : 68634042853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340169261. 1
686340169262. 2
686340169263. 3
686340169264. 4

Question Number : 16 Question Id : 68634042853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340169261. 1
686340169262. 2
686340169263. 3
686340169264. 4

Question Number : 17 Question Id : 68634042854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340169265. 1
686340169266. 2
686340169267 3
686340169268. 4

Question Number : 17 Question Id : 68634042854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340169265. 1
686340169266. 2
686340169267 3
686340169268. 4

Question Number : 18 Question Id : 68634042855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340169269. 1
686340169270. 2
686340169271. 3
686340169272. 4

Question Number : 18 Question Id : 68634042855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340169269. 1
686340169270. 2
686340169271. 3
686340169272 4

Question Number : 19 Question Id : 68634042856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340169273. 1
686340169274. 2

686340169275. 3
686340169276. 4

Question Number : 19 Question Id : 68634042856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340169273. 1
686340169274. 2
686340169275. 3
686340169276. 4

Question Number : 20 Question Id : 68634042857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340169277. 1
686340169278. 2
686340169279. 3
686340169280. 4

Question Number : 20 Question Id : 68634042857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340169277. 1
686340169278. 2
686340169279. 3
686340169280. 4

Question Number : 21 Question Id : 68634042858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340169281. 1
686340169282. 2

686340169283. 3
686340169284. 4

Question Number : 21 Question Id : 68634042858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340169281. 1
686340169282. 2
686340169283. 3
686340169284. 4

Question Number : 22 Question Id : 68634042859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340169285. 1
686340169286. 2
686340169287. 3
686340169288. 4

Question Number : 22 Question Id : 68634042859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340169285. 1
686340169286. 2
686340169287. 3
686340169288. 4

Question Number : 23 Question Id : 68634042860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340169289. 1
686340169290. 2
686340169291. 3
686340169292. 4

Question Number : 23 Question Id : 68634042860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340169289. 1
686340169290. 2
686340169291. 3
686340169292. 4

Question Number : 24 Question Id : 68634042861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340169293. 1
686340169294. 2
686340169295. 3
686340169296. 4

Question Number : 24 Question Id : 68634042861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340169293. 1
686340169294. 2
686340169295. 3
686340169296. 4

Question Number : 25 Question Id : 68634042862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340169297. 1

686340169298. 2

686340169299. 3
686340169300. 4

Question Number : 25 Question Id : 68634042862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340169297 1
686340169298. 2
686340169299. 3
686340169300. 4

Part B: Music Percussion

Section Id : 686340844
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401405
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634042863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Kishan Maharaj was associated with which instrument ?

1. Tabla

[ ]

. Pakhawaj
3. Sitar

4, Sarod
Options :
686340169301. 1
686340169302. 2
686340169303. 3
686340169304. 4

Question Number : 26 Question Id : 68634042863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fp HeRT™ @1 Hey fg a9 8

1. ddcll
2. qdrauf
3. faR
4. 15

Options :

686340169301. 1
686340169302. 2
686340169303. 3
686340169304. 4

Question Number : 27 Question Id : 68634042864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 3
X Dhi Na| Complete the Tala

1. Na

)

. Dha
3.Tu

4. Ka
Options :
686340169305. 1
686340169306. 2
686340169307. 3
686340169308. 4

Question Number : 27 Question Id : 68634042864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G |TAT TR -

1.1

| ]

T

-4

4. %
Options :
686340169305. 1
686340169306. 2
686340169307. 3

Lad



686340169308. 4

Question Number : 28 Question Id : 68634042865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"KorWat' 1s performed on which mstrument?

1. Pakhawaj

-J

. Mridangam
3. Dholak

4. Naal
Options :
686340169309. 1
686340169310. 2
686340169311. 3
686340169312. 4

Question Number : 28 Question Id : 68634042865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BRI P are Y are IR a1 oird 82

1. Udiad

2. &M
3. Bldd

4. Il
Options :
686340169309. 1
686340169310. 2
686340169311. 3
686340169312. 4

Question Number : 29 Question Id : 68634042866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tyagaraja is associated with:

1. Karnatak Music

| ]

. Hindustani Music
3. Western Music

4. Arabian Music
Options :
686340169313. 1
686340169314. 2



686340169315. 3
686340169316. 4

Question Number : 29 Question Id : 68634042866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRRTST BT JIGH B -

1. ®Aled Fiftd

g g
3. o1 AT
4, IR WA

Options :

686340169313. 1
686340169314. 2
686340169315. 3
686340169316. 4

-J

Question Number : 30 Question Id : 68634042867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sign of Khali in Bhatkhande Swarlipi Paddhati is:

1. =

!J
@]

4. *
Options :

686340169317. 1
686340169318. 2
686340169319. 3
686340169320. 4

Question Number : 30 Question Id : 68634042867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YIawEus WRIGN ggid O @l &1 = &1 g2

1. x

!J
@]

4. *
Options :



686340169317. 1
686340169318. 2
686340169319. 3
686340169320. 4

Question Number : 31 Question Id : 68634042868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the Western Music Composer:

1. Beethoven

J

. Shyama Shastri
3. Ramashrya Jha

4. Tyagaraja
Options :
686340169321. 1
686340169322. 2
686340169323. 3
686340169324. 4

Question Number : 31 Question Id : 68634042868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QYT 9i1d & PR & 9g491-d -
1. fauiegT
. ROTHTLIRGA]

| )

3. AHIEG Al

4. RIS
Options :
686340169321. 1
686340169322 2
686340169323. 3
686340169324. 4

Question Number : 32 Question Id : 68634042869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which Gharana 'Kayda' is specifically performed?

1. Delli

-J

. Aora

3. Patiala

4, Dharwad



Options :

686340169325. 1
686340169326. 2
686340169327. 3
686340169328. 4

Question Number : 32 Question Id : 68634042869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIIer fhg WwH ¥ {49y =9 I S 9T 82

1. faeedt
3R

3. gfeare

| ]

4. YRdls
Options :
686340169325. 1
686340169326. 2
686340169327. 3
686340169328. 4

Question Number : 33 Question Id : 68634042870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many times 'Sadharan Tukra' 1s performed?

1. 1

[ ]
Lad

4.6
Options :
686340169329. 1
686340169330. 2
686340169331. 3
686340169332. 4

Question Number : 33 Question Id : 68634042870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIYRYI HST P & IR FoIdl ol 82

1.4

|
LN

4.6
Options :
686340169329. 1
686340169330. 2
686340169331. 3
686340169332. 4

Question Number : 34 Question Id : 68634042871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Meaning of 'Palta’ 1s:

1. Playing i a straight manner @?ﬂ)

| )

. Playing in reverse manner (\3ecl)
3. Playing in reverse and straight manner (\Jec YeC)

4. Playing without Bols
Options :
686340169333. 1
686340169334. 2
686340169335. 3
686340169336. 4

Question Number : 34 Question Id : 68634042871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TeeT Bl 34 52

1. e Form

| ]

3ol §9fl-T

3. Jec-Ued T qull-]

4. fomT §19 & i
Options :
686340169333. 1
686340169334. 2
686340169335. 3
686340169336. 4



Question Number : 35 Question Id : 68634042872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of 'Dha’ in 'Chakradar Tukda' is ;

3: 12

4. 15
Options :
686340169337. 1
686340169338. 2
686340169339. 3
686340169340. 4

Question Number : 35 Question Id : 68634042872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DGR gh Sl § 'oT B T fbal gidl g7

1.6

|
=]

3.12

4. 15
Options :
686340169337. 1
686340169338. 2
686340169339. 3
686340169340. 4

Question Number : 36 Question Id : 68634042873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Dupalli’ is associated with:

1. Tukda

-J

. Gat
3. Bow

4. Veena
Options :
686340169341. 1
686340169342, 2
686340169343. 3
686340169344. 4



Question Number : 36 Question Id : 68634042873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
: ﬂ| - -r@ % -
1.CHeTd

RIGE:

| ]

3761

4. dion g
Options :
686340169341. 1
686340169342. 2
686340169343. 3
686340169344. 4

Question Number : 37 Question Id : 68634042874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'"Ram Shankar Das' is associated with which instrument?

1. Tabla

J

. Pakhawayj
3. Naal

4. Khol
Options :
686340169345. 1
686340169346. 2
686340169347. 3
686340169348. 4

Question Number : 37 Question Id : 68634042874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R R & P HeY g a9 82

1. ddcil

-J

RCLCICE

3.9 icd

4 @
Options :
686340169345. 1
686340169346. 2



686340169347. 3
686340169348. 4

Question Number : 38 Question Id : 68634042875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Dhate Tedha Tete Dha Dha...." This composition is called :

1. Kayda

-J

. Tihai
3. Chakradar

4. Paran
Options :
686340169349. 1
686340169350. 2
686340169351. 3
686340169352. 4

Question Number : 38 Question Id : 68634042875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT YT e 1T S Xa-l @l Ped @ ;
1. B1Ea]
2. forere
3. 9HeR

4. Y01
Options :
686340169349. 1
686340169350. 2
686340169351. 3
686340169352. 4

Question Number : 39 Question Id : 68634042876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Sarva Laghu' is performed on :

1. Pakhawayj

| ]

. Sitar
3. Mridangam
4. Veena

Options :
686340169353. 1



686340169354. 2
686340169355. 3
686340169356. 4

Question Number : 39 Question Id : 68634042876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
d oY I dIg [T Sl © -

1. gdias 43
2. FaR &

3. HEIH R
4. QIO R

Options :

686340169353. 1
686340169354. 2
686340169355. 3
686340169356. 4

Question Number : 40 Question Id : 68634042877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the sign of 'Laghu' in Karnatak Music :

1.0

| ]
—

3:U

4. T
Options :
686340169357. 1
686340169358. 2
686340169359. 3
686340169360. 4

Question Number : 40 Question Id : 68634042877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ice Wit & @Y & g S ug=nu -

1.0

[ ]
—



Options :

686340169357. 1
686340169358. 2
686340169359. 3
686340169360. 4

Question Number : 41 Question Id : 68634042878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sign of 'Kakpadam' 1s' :

1.0

R
3.1

4.1
Options :
686340169361. 1
686340169362. 2
686340169363. 3
686340169364. 4

Question Number : 41 Question Id : 68634042878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DIDHTEH B T% & -

1.0

| B
I

4.1
Options :
686340169361. 1
686340169362. 2
686340169363. 3
686340169364. 4

Question Number : 42 Question Id : 68634042879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Bansuri' is a variety of :

1. Avnadha

-J

. Ghana
3. Sushur

4. Tatt
Options :
686340169365. 1
686340169366. 2
686340169367 3
686340169368. 4

Question Number : 42 Question Id : 68634042879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T PP UPRE -

1. A S

-J

Y4

3. YR

4.7
Options :
686340169365. 1
686340169366. 2
686340169367. 3

686340169368. 4

Question Number : 43 Question Id : 68634042880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'JTai Ghanta' is used in :

1. Underworld (Paataal)

-J

. Sky
3. Temple

4. Ocean
Options :
686340169369. 1
686340169370. 2
686340169371. 3
686340169372. 4



Question Number : 43 Question Id : 68634042880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"o HeT S W gldl 6 -

1. HIdTet

| ]

STRTR
3. 4R
4. 9%

Options :

686340169369. 1
686340169370. 2
686340169371. 3
686340169372. 4

Question Number : 44 Question Id : 68634042881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the percussion instrument of South India :

1. Pakhawaj
2. Tabla
3. Chenda

4. Muraj
Options :
686340169373. 1
686340169374. 2
686340169375. 3
686340169376. 4

Question Number : 44 Question Id : 68634042881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I3 YR & 3fdTow el &1 Ugdlu -

1. gdigaf

[ )

ddcl

=
4. Hdi
Options :

686340169373. 1
686340169374. 2



686340169375. 3
686340169376. 4

Question Number : 45 Question Id : 68634042882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s associated with Naad' 7

1. Pitch

-J

. Yati
3. Gati

4. Laya
Options :
686340169377. 1
686340169378. 2
686340169379. 3
686340169380. 4

Question Number : 45 Question Id : 68634042882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S &1 YaY a3

1. ARl
2. 9fd
3,71

4. Y
Options :
686340169377. 1
686340169378. 2
686340169379. 3
686340169380. 4

Question Number : 46 Question Id : 68634042883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Kriya' comes on which number in Tala's Das Prana?

1.2

[ ]
LN

3.4

4.5
Options :



686340169381. 1
686340169382. 2
686340169383. 3
686340169384. 4

Question Number : 46 Question Id : 68634042883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & &4 W01 § 1fohar &1 hH fdha- ek UR 31dl g7

1.2

4.5
Options :
686340169381. 1
686340169382. 2
686340169383. 3
686340169384. 4

Question Number : 47 Question Id : 68634042884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference in Teentala and Tilwada 1s of :

1. Bol

[ ]

. Matra

Lad

. Vibhag

4, Tali-Khali
Options :
686340169385. 1
686340169386. 2
686340169387. 3
686340169388. 4

Question Number : 47 Question Id : 68634042884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fare ud faaarsT § feger amR § -
1. €id
2. T
3. favm
4. i@t

Options :

686340169385. 1
686340169386. 2
686340169387. 3
686340169388. 4

Question Number : 48 Question Id : 68634042885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Krishya' is the variety of :

1. Ang

-J

. Visarjitam
3. Guru

4. Laghu
Options :
686340169389. 1
686340169390. 2
686340169391. 3
686340169392. 4

Question Number : 48 Question Id : 68634042885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T fFY B IPR S -
1. 3T
feafsiag

L

| ]

3.7%
1.9

Options :

686340169389. 1
686340169390. 2
686340169391. 3
686340169392. 4



Question Number : 49 Question Id : 68634042886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Varieties of Marg' are :

1.2

4.5
Options :
686340169393. 1
686340169394. 2
686340169395. 3
686340169396. 4

Question Number : 49 Question Id : 68634042886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hnf & fhd- TR & -

1.2

| B
LN

4.5
Options :
686340169393. 1
686340169394. 2
686340169395. 3
686340169396. 4

Question Number : 50 Question Id : 68634042887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Karnatak Music. how many Tala are created from 7 Talas :

1.20

[ ]
nd
"

4. 35
Options :
686340169397. 1
686340169398. 2
686340169399. 3
686340169400. 4



Question Number : 50 Question Id : 68634042887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hted G § 7 drel I fod=t arel &f I &1 7S 82

1.20

4. 35
Options :
686340169397. 1
686340169398. 2
686340169399. 3
686340169400. 4

Question Number : 51 Question Id : 68634042888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Anushtup’ 1s related to :

1. Chhanda

J

. Patalshar
3. Laya

4. Yati
Options :
686340169401. 1
686340169402. 2
686340169403. 3
686340169404. 4

Question Number : 51 Question Id : 68634042888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR PTG -
1.8

-J

. HICT&
j. g

4. 91
Options :
686340169401. 1
686340169402. 2
686340169403. 3



686340169404. 4

Question Number : 52 Question Id : 68634042889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which is very important in Karnatak Tala Paddhati?

1. Varna

| ]

. Anga
3. Patakshar

4. Chhanda
Options :
686340169405. 1
686340169406. 2
686340169407. 3
686340169408. 4

Question Number : 52 Question Id : 68634042889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i did U=ia O frges! fa9y Uea &2
1. quf

3T

| )

3. HICTa

4.9g
Options :
686340169405. 1
686340169406. 2
686340169407. 3
686340169408. 4

Question Number : 53 Question Id : 68634042890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of 'Jati' are :

1.4

| ]
L

4.7
Options :
6863401694009. 1
686340169410. 2



686340169411. 3
686340169412. 4

Question Number : 53 Question Id : 68634042890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it 1 HwT et &-

1.4

4.7
Options :
686340169409. 1
686340169410. 2
686340169411. 3
686340169412. 4

Question Number : 54 Question Id : 68634042891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Artiste of 'Nathdwara Parampara’ is :

1. Purushotam Das

[ ]

. Kudau Singh

Lad

. Parvat Singh

4, Bhavani Shankar
Options :
686340169413. 1
686340169414. 2
686340169415. 3
686340169416. 4

Question Number : 54 Question Id : 68634042891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
USRI YUIRT & HATHR % -

1. QeNH g
2. $53 e
3. 9dd g
4. YTl Y

Options :




686340169413. 1
686340169414. 2
686340169415. 3
686340169416. 4

Question Number : 55 Question Id : 68634042892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who had the special talent for Tabla accompaniment with Kathak Dance?

1. Kishan Maharaj

| ]

. Bhagwati Prasad
3. Kanthe Maharaj

4. Chatrapati Singh
Options :
686340169417. 1
686340169418. 2
686340169419. 3
686340169420. 4

Question Number : 55 Question Id : 68634042892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DYD T b Y Il G H fbeg fa= Frgordr ure &t
1. foog R
2. HITde TS
3. ®& HgRTS
4. TAufd Rig

Options :

686340169417. 1
686340169418. 2
686340169419. 3
686340169420. 4

Question Number : 56 Question Id : 68634042893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the talented exponent of Mridangam?

1. Vaidyanath Aiyer

]

. Shivamani
3. Kelu Charan Mahapatra

4. Tyagaraja
Options :
686340169421. 1
686340169422. 2
686340169423. 3
686340169424. 4

Question Number : 56 Question Id : 68634042893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSI & dlg- H Do HERd sliid UI?

1. AEATY TR
faranfor

| S

Lad

. PR HETUTAT

4, NI
Options :
686340169421. 1
686340169422 2
686340169423. 3
686340169424. 4

Question Number : 57 Question Id : 68634042894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tradition of Playing Bant' is prevalent in which Gharana?

1. Banaras

| ]

. Ajrada

LeFN]

. Punyab

4. Farukhabad
Options :
686340169425. 1
686340169426. 2
686340169427. 3
686340169428. 4

Question Number : 57 Question Id : 68634042894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

die Tl Pt uyT feg wa & 22

1. §-R"

-J

HORTSI
3. gag

4, FEETG
Options :
686340169425. 1
686340169426. 2
686340169427. 3
686340169428. 4

Question Number : 58 Question Id : 68634042895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Performing Time of Raga "Yaman' is :

1. Morning

| ]

. Evening

Lad

. Mid night

4. Brahm Mahurat
Options :
686340169429. 1
686340169430. 2
686340169431. 3
686340169432. 4

Question Number : 58 Question Id : 68634042895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A I [ Tex T A § -

1. ge%
g
3. He XA
4. SE A

Options :

686340169429. 1
686340169430. 2
686340169431. 3
686340169432. 4

| ]



Question Number : 59 Question Id : 68634042896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If Dugun of Jhaptala and Chaugun of Keharwa is recited once. then in which tala
will it come :

1. Dadra

[ ]

. Rupak
3. Chautala

4. Dhamar
Options :
686340169433. 1
686340169434 2
686340169435. 3
686340169436. 4

Question Number : 59 Question Id : 68634042896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIATd @1 g1 U4 $e<dl & 9F Us aR 4 aial o ol 98 $1F-9 a1a 3
ST

1. alq¥

2. 3UH
3. I

4. ¥YHR
Options :
686340169433. 1
686340169434. 2
686340169435. 3
686340169436. 4

Question Number : 60 Question Id : 68634042897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of Vikrit swars in Hindustani Classical Music are :

1.4

| ]
h

4.7
Options :
686340169437. 1



686340169438. 2
686340169439. 3
686340169440. 4

Question Number : 60 Question Id : 68634042897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el U i o fddd Rl &1 T2 ¢ -

1.4

[ ]
[

4.7
Options :
686340169437. 1
686340169438. 2
686340169439. 3
686340169440. 4

Question Number : 61 Question Id : 68634042898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of parts of Tripushkar Vadya were:

1.2

[ ]
Lad

4.5
Options :
686340169441. 1
686340169442. 2
686340169443. 3
686340169444 4

Question Number : 61 Question Id : 68634042898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TAYSHR arer & fad wmT 42

1.2

[ B}
LS ]

4.5
Options :



686340169441. 1
686340169442. 2
686340169443. 3
686340169444. 4

Question Number : 62 Question Id : 68634042899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 3i S 3 5| indicates the laya :

1. Tigun

| )

. Chaugun
3. Aad

4. Kuad
Options :
686340169445. 1
686340169446. 2
686340169447. 3
686340169448. 4

Question Number : 62 Question Id : 68634042899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
183 83K ThR 5] B
; 53 8 78 fou veR & v @l eWidl &

L. feFT
A

3. dllg

| B}

4. P13
Options :
686340169445. 1
686340169446. 2
686340169447. 3
686340169448. 4

Question Number : 63 Question Id : 68634042900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If chaugun of Dhamar is recited once. then number of beats will be

1.7

[
Td
b | —

4. 3—

4
Options :
686340169449. 1
686340169450. 2
686340169451. 3
686340169452. 4

Question Number : 63 Question Id : 68634042900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &1 IN[A U g1 aicil ol dd ag (a1 9= Sl gl

L.

| )
(3%

i 3=

=

Options :

686340169449. 1
686340169450. 2
686340169451. 3
686340169452. 4

Question Number : 64 Question Id : 68634042901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of Graha are :

| ]
Lad

4.5
Options :
686340169453. 1
686340169454. 2
686340169455. 3



686340169456. 4

Question Number : 64 Question Id : 68634042901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TP IUPRF T -

1.2

|
LN

4.5
Options :
686340169453. 1
686340169454. 2
686340169455. 3
686340169456. 4

Question Number : 65 Question Id : 68634042902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Mridangam' is made of the wood of :

1. Mango

-J

. Jackfruit
3. Jamun

4. Peepal
Options :
686340169457. 1
686340169458. 2
686340169459. 3
686340169460. 4

Question Number : 65 Question Id : 68634042902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g el O & Blal 87

1. 3H
2. PR

3. S
4. digq

Options :
686340169457. 1



686340169458. 2
686340169459. 3
686340169460. 4

Question Number : 66 Question Id : 68634042903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ahmad Jaan Thiralowa 1s associated with which instrument ?

1. Tabla

| ]

. Sitar

Lad

. Sarod

4. Violin
Options :
686340169461. 1
686340169462. 2
686340169463. 3
686340169464. 4

Question Number : 66 Question Id : 68634042903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eSO AReal &1 ey fba A 4 g -

1. e
2. FaR
3. e
4. ArafeH

Options :

686340169461. 1
686340169462. 2
686340169463. 3
686340169464. 4

Question Number : 67 Question Id : 68634042904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Sitar’ comes under the category of :

1. Ghana

-J

. Sushur
3. Tatt

4. Avnadha
Options :



686340169465. 1
686340169466. 2
686340169467. 3
686340169468. 4

Question Number : 67 Question Id : 68634042904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRraR oy Jull & Sl e & -
199

R

3.ddq

&

| ]

4. HdY
Options :
686340169465. 1
686340169466. 2
686340169467 3
686340169468. 4

Question Number : 68 Question Id : 68634042905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Artiste of Ajrada Gharana is:

1. Aloram Khan

2. Sabir Khan

Lad

. Dilawar Khan

4, Hussain Khan
Options :
686340169469. 1
686340169470. 2
686340169471. 3
686340169472. 4

Question Number : 68 Question Id : 68634042905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IORTST IR & TAPR © -
1. DA @l

1R =i

3. feaer @i

4. g9 @l
Options :
686340169469. 1
686340169470. 2
686340169471. 3
686340169472. 4

| ]

Question Number : 69 Question Id : 68634042906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Gharana i1s known for 'Gat' Vadan ?

1. Dellu

J

. Farulchabad

[ 5]

. Punjab

4. Banaras
Options :
686340169473. 1
686340169474. 2
686340169475. 3
686340169476. 4

Question Number : 69 Question Id : 68634042906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-1 TRET TTa a1 & i 1 oial © -

1. feewdt
. BI=ETEG

3. Gallg

| )

4. §H
Options :
686340169473. 1
686340169474 2
686340169475. 3
686340169476. 4



Question Number : 70 Question Id : 68634042907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many varieties of Tala lipi Notation system is prevalent in North Indian
Music?

| )
| )

3.4

4.5
Options :
686340169477. 1
686340169478. 2
686340169479. 3
686340169480. 4

Question Number : 70 Question Id : 68634042907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR YR 9iid | fba- yoR @t ard faft ggfd vafad g2

1.1

3.4

4.5
Options :
686340169477. 1
686340169478. 2
686340169479. 3
686340169480. 4

Question Number : 71 Question Id : 68634042908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Author of NatyaShastra is:

1. Bharat

| ]

. Kchal

Lad

. Parshva Deva

4, Narad
Options :
686340169481. 1
686340169482. 2
686340169483. 3



686340169484. 4

Question Number : 71 Question Id : 68634042908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR & TEHATPR DA %?

1. Hd
. Plgd
3.urgdd

4.7 RE
Options :
686340169481. 1
686340169482. 2
686340169483. 3
686340169484. 4

| )

Question Number : 72 Question Id : 68634042909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Samta Prasad belonged to which Gharana?

1. Dellu

2. Banaras

LN ]

. Punjab

4. Ajroda
Options :
686340169485. 1
686340169486. 2
686340169487. 3
686340169488. 4

Question Number : 72 Question Id : 68634042909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 941G {68 TH & daa diqe 42

1. feeedt

NGE IR

[ )

3. Gullg

4. HORISI
Options :
686340169485. 1



686340169486. 2
686340169487. 3
686340169488. 4

Question Number : 73 Question Id : 68634042910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of Margi Talas are :

1.4

[ ]
N

4.7
Options :
686340169489. 1
686340169490. 2
686340169491. 3
686340169492. 4

Question Number : 73 Question Id : 68634042910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT qreTl @1 EEAT febaHt 82

1.4

=
L

4.7
Options :
686340169489. 1
686340169490. 2
686340169491. 3
686340169492 4

Question Number : 74 Question Id : 68634042911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which instrument accompanies Folk Music?

1. Mridangam

| ]

. Pakhawaj
3. Dholak

4, Panav
Options :



686340169493. 1
686340169494. 2
686340169495. 3
686340169496. 4

Question Number : 74 Question Id : 68634042911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e Hifld & W1y $IH-1 el g ofidl 82

1. 5&THq
2. Eas

3. gled

4. YU
Options :
686340169493. 1
686340169494. 2
686340169495. 3
686340169496. 4

Question Number : 75 Question Id : 68634042912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Author of Sangeet Ratnakar 1s :

1. Narad

2. Swati

Lad

. Sharangdev

4, Bharat
Options :
686340169497. 1
686340169498. 2
686340169499. 3
686340169500. 4

Question Number : 75 Question Id : 68634042912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i AP & @D DI 62
1. "ARq
2. WIfd
3. ATEd

4. HId
Options :
686340169497. 1
686340169498. 2
686340169499. 3
686340169500. 4

Question Number : 76 Question Id : 68634042913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of Desi Talas are :

1. 100

| ]

. 110

Lad

. 120

4. 130
Options :
686340169501. 1
686340169502. 2
686340169503. 3
686340169504. 4

Question Number : 76 Question Id : 68634042913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< uft arell &1 T fha- &drs 178 22

1. 100

o |

2. 110
3.120

4. 130
Options :
686340169501. 1
686340169502. 2
686340169503. 3
686340169504. 4



Question Number : 77 Question Id : 68634042914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Complete the Tala

Dha
X

Dhin Dha

1. Na

|

. Ta
3. Dhin

4, Te
Options :
686340169505. 1
686340169506. 2
686340169507. 3
686340169508. 4

Question Number : 77 Question Id : 68634042914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el @1 gof HIfTY -

g1 dfen |

X

2 g 4

4.4
Options :
686340169505. 1
686340169506. 2
686340169507. 3
686340169508. 4

Question Number : 78 Question Id : 68634042915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many parts did 'Ankik’ have :

1.1

o
[



Options :

686340169509. 1
686340169510. 2
686340169511. 3
686340169512. 4

Question Number : 78 Question Id : 68634042915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fifoes &b - YT U2

[ B}
- |

4.5
Options :
686340169509. 1
686340169510. 2
686340169511. 3
686340169512. 4

Question Number : 79 Question Id : 68634042916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If 7 beats are recited in 4 beats, then which Layakari will it be :

1. Aad

J

. Kuad
3. Tigun

4. Biad
Options :
686340169513. 1
686340169514. 2
686340169515. 3
686340169516. 4

Question Number : 79 Question Id : 68634042916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A FETE 7 AET 9161 91U 99 98 & H-91 aa®RI gt

1. dlg

| ]

FHTS

3. 1T

4. faams
Options :
686340169513. 1
686340169514. 2
686340169515. 3
686340169516. 4

Question Number : 80 Question Id : 68634042917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Categories of mnstruments are:

1.4

| )
]

4.7
Options :
686340169517. 1
686340169518. 2
686340169519. 3
686340169520. 4

Question Number : 80 Question Id : 68634042917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

arell ol feodHt Aforal 62

1.4

=
[

4.7
Options :
686340169517. 1
686340169518. 2
686340169519. 3
686340169520. 4



Question Number : 81 Question Id : 68634042918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Nakkara' is played with

1. Wood

| ]

. Stick
3. Hammer

4. Mirror
Options :
686340169521. 1
686340169522. 2
686340169523. 3
686340169524. 4

Question Number : 81 Question Id : 68634042918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR BT 15 fbd diet I foban o1l 52
B
2.9l
3. 8IS
4. 2ft=m

Options :

686340169521. 1
686340169522 2
686340169523. 3
686340169524. 4

Question Number : 82 Question Id : 68634042919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Khali-Bhari Ki Gat' 1s played on which mtrument?

1. Tabla

-J

. Sitar
3. Bansuri

4. Surbahar
Options :
686340169525. 1
686340169526. 2
686340169527. 3
686340169528. 4



Question Number : 82 Question Id : 68634042919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
~aTelt-4¥ Pt 7Ta b aTey uR S o g2

1. ddcl

. RaR
3. |
4. REER

Options :

686340169525. 1
686340169526. 2
686340169527. 3
686340169528. 4

| ]

Question Number : 83 Question Id : 68634042920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many times Tala is recited in Chaugun Laya?

1.4

el
L

4.8
Options :
686340169529. 1
686340169530. 2
686340169531. 3
686340169532. 4

Question Number : 83 Question Id : 68634042920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

27 31 @ H 5 off a1 o fhaa SR aien o 82

1.4

[ ]
)

4.8
Options :
686340169529. 1
686340169530. 2



686340169531. 3
686340169532. 4

Question Number : 84 Question Id : 68634042921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the Tala :

Dhmn _ Dhin

X dhage Tirket .....

1. Chautala

[ ]

. Dhamar
3. Eltala

4. Rupak
Options :
686340169533 1
686340169534. 2
686340169535. 3
686340169536. 4

Question Number : 84 Question Id : 68634042921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Elzre?fmm ISR - dTd &1 U= -

1. It
2. YAR
3. UHard

4. =UD
Options :
686340169533. 1
686340169534. 2
686340169535. 3
686340169536. 4

Question Number : 85 Question Id : 68634042922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Panav’ instrument belongs to which category?

1. Avnaddha

| ]

. Tatt

3. Ghana

4. Sushir
Options :
686340169537. 1
686340169538. 2
686340169539. 3
686340169540. 4

Question Number : 85 Question Id : 68634042922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qure a7 fors ol T A © -

4.
Options :
686340169537. 1
686340169538. 2
686340169539. 3
686340169540. 4

Question Number : 86 Question Id : 68634042923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Gharana of Tabla has been established in independent way?

1. Delli

-J

. Ajrada

[ 5]

. Punjab

4. Banaras
Options :
686340169541. 1
686340169542. 2
686340169543. 3
686340169544. 4



Question Number : 86 Question Id : 68634042923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dedl & BIH-91 TR Wad U J 1 6 -

1. feemit

Hollsl

[ ]

3. g

ERGEIEES
Options :
686340169541. 1
686340169542 2
686340169543. 3
686340169544. 4

Question Number : 87 Question Id : 68634042924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Tala accompanies vilambit khayal?

1. Dhamar

| ]

. Chautala
3. Ektala

4. Rupak
Options :
686340169545. 1
686340169546. 2
686340169547. 3
686340169548. 4

Question Number : 87 Question Id : 68634042924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faeiferd aTe @ W1y 1--H1 dTd Sl Siidl 82

1. YHR

2. didre
3. UhdTd

4, U
Options :
686340169545. 1
686340169546. 2
686340169547. 3



686340169548. 4

Question Number : 88 Question Id : 68634042925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Varieties of 'Yati' are :

Lad
o |

4.9
Options :
686340169549. 1
686340169550. 2
686340169551. 3
686340169552. 4

Question Number : 88 Question Id : 68634042925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af & feha PR E -

1.3

4.9
Options :
686340169549. 1
686340169550. 2
686340169551. 3
686340169552. 4

Question Number : 89 Question Id : 68634042926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Swapan Chaudhary is associated with which Gharana of Tabla?

1. Lucknow

| ]

. Punjab

LN ]

. Ajrada

4. Delhi
Options :
686340169553. 1
686340169554. 2



686340169555. 3
686340169556. 4

Question Number : 89 Question Id : 68634042926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wy el &1 HaY qad & (9 WA 9 82

IBNECE IS

| )

. Gulle
3. ARSI

4. foeeft
Options :
686340169553. 1
686340169554. 2
686340169555. 3
686340169556. 4

Question Number : 90 Question Id : 68634042927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who gets the special credit for popularising Peshkar'?

1. Alla Rakha Khan

-J

. Habibudin Khan
3. Nizam Khan

4. Nanhe Khan
Options :
686340169557. 1
686340169558. 2
686340169559. 3
686340169560. 4

Question Number : 90 Question Id : 68634042927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHR B AU =9 I J=ferd o3 &1 99 B8 Wil 62
1. 37l Tl Gl
2. galgg A @l
3. g =t
4.5 @l

Options :




686340169557. 1
686340169558. 2
686340169559. 3
686340169560. 4

Question Number : 91 Question Id : 68634042928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wind instruments are :

A, Tabla
B. Flute
C. Sitar
D. Shehnai
E. Ghanta

Choose the correct answer from the options given below:

1.Aand B

I-J

.Aand C
3.BandD

4. Band E
Options :
686340169561. 1
686340169562. 2
686340169563. 3
686340169564. 4

Question Number : 91 Question Id : 68634042928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. dddl
B. §IRT
c. fodr
D. TS
E. Yel

i< fau T fadedi O U gl 3T gifeig -
1.ARB

LASRC

3.B3RD

4.B3RE

Options :
686340169561. 1

| ]



686340169562. 2
686340169563. 3
686340169564. 4

Question Number : 92 Question Id : 68634042929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I[dentify Alankars :

A. Anushtup

B. Pipilika

C. Mandrakanta
D. Yatishikhar

Choose the correct answer from the options given below:
l1.Aand B
2.Aand C
3.BandC

4. BandD
Options :
686340169565. 1
686340169566. 2
686340169567. 3
686340169568. 4

Question Number : 92 Question Id : 68634042929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. i
B. Yifafci]

C. T<ThT=l
D. Ofaf¥reR
e feu U faeredi § O 98l IR 4ol -
1.A3RB
A3RC
3.B3RC
4.B3RD
Options :
686340169565. 1
686340169566, 2

686340169567. 3
686340169568. 4

[ ]



Question Number : 93 Question Id : 68634042930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the Gharanas of Purab Baaj'.

A. Delhi

B. Farukhabad
C. Lukhnow
D. Ajrada

Choose the correct answer from the options given below:
l1.Aand B
2. Aand C
J.BandC

4. Band D
Options :
686340169569. 1
686340169570. 2
686340169571. 3
686340169572. 4

Question Number : 93 Question Id : 68634042930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URd §16] & R &l g -

A feewt

B. HE=@Eg
C. TS
D. 3OSl

12 fu U foeed! O 9§ Tl 9Tk Sifig -
1.ASRB

AdRC

3.B3IRC

4.B3RD

Options :

686340169569. 1
686340169570. 2
686340169571. 3
686340169572. 4

[ ]



Question Number : 94 Question Id : 68634042931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the Tabla Artistes of Banaras Gharana :

A, Sharda Sahai

B. Manju Khan

C. Ram Kumar Mishra
D. Inam Ali

Choose the correct answer from the options given below:
1.Aand B
2. Aand C
3.Band C

4. Band D
Options :
686340169573. 1
686340169574. 2
686340169575. 3
686340169576. 4

Question Number : 94 Question Id : 68634042931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIRY URH & dddl dig® ©l YU -

A. XRET Wg
B. Hol @i
C.IH PHR foy
D. g 3fcil

12 fu U foeed! O 9§ Tl 9Tk Sifig -
1LA3RB

AdRC

3.B3RC

4.B3RD

Options :

686340169573. 1
686340169574. 2
686340169575. 3
686340169576. 4

[ ]

Question Number : 95 Question Id : 68634042932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct option of Tala with increasing number of beats :

A. Teentala
B. Dadra
C. Thaptala
D. Rupak

Choose the correct answer from the options given below:

1.LAB.CD

| B

A DA B
3.}3D.C.B.A

4.B.D.C.A
Options :
686340169577. 1
686340169578. 2
686340169579. 3
686340169580. 4

Question Number : 95 Question Id : 68634042932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dTcl &1 A1l & 9¢d gU hH U el fdeey gAu -

INGIEGIG
B. Il
C. SOdTd
D. =U®

- fqu e faoedl 7 9§ gl SR i .

1.LAB.C.D

| )

.C,D,A,B
3.0, C.BA

4. B.D.C.A
Options :
686340169577. 1
686340169578. 2
686340169579. 3
686340169580. 4

Question Number : 96 Question Id : 68634042933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Instrument Artistes
A |Sitar I. [Vinod Lele
BE. |Tabla II. |Attan Khan
C. |Pakhawaj ITI. [Nikhil Banerjee
D. [Dhelak TV. [Ramji Lal Sharma

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

[ B

AL B-IV, C-1, D-11T
3. AL B-IV, C-1, D-IIT

4. A-TV, B-TII, C-II. D-I
Options :
686340169581. 1
686340169582. 2
686340169583. 3
686340169584. 4

Question Number : 96 Question Id : 68634042933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gHl 1 9 fiae Sifen
T 19T T 11 FATSR

A AR 1 [figE o

B. [aaan I e Er

C. [TEad il EEERERE

D. gla® IV. RTHel A

Fafaiad [doedl § O Ual 3R &1 944 DIl

1. A-I. B-II. C-IIL. D-IV

[ ]

AL B-IV, C-1, D-11T
3. AL B-IV, C-1, D-IIT

4. ATV, B-III, C-1I, D1
Options :
686340169581. 1
686340169582. 2
686340169583. 3
686340169584. 4

Question Number : 97 Question Id : 68634042934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Ghanta I. |Avnaddha
B. |Bansuri II. |Ghana
C. [Violon III. |Tatt
D. |Pakhawaj IV Sushir

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

[ ]

AT B-IIL C-1, DIV
3. AL B-IV, C-IIL D-I

4. ATV, B-II, C-1, D-IIT
Options :
686340169585. 1
686340169586. 2
686340169587. 3
686340169588. 4

Question Number : 97 Question Id : 68634042934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 11 gl 11 9 fHar Sifeu
T 1 T I

A [der il ECEEE]

B [@Igd IL [

C. [arafeH 11 [aq

D. [dEras V. [t

FafdRad faeedl © 9 98l 3R &1 94 Sifo ;

1. A-I. B-II, C-III, D-IV

[ ]

cA-IL B-IILL C-1, D-IV
3. AL B-IV, C-IIL D-I

4. ATV, B-II, C-1, D-IIT
Options :
686340169585. 1
686340169586. 2
686340169587. 3
686340169588. 4

Question Number : 98 Question Id : 68634042935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I States |LIST II Instruments|

A Maharashtra I. [Khol
B. |Bengal II. Pung
C. JAssam I11. [Dholk:
D. [Kerala IV. |Chenda

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

[ ]

AL B-1 C-II DIV
3. A-IL B-1IL C-IV. D-I

4. ATV, BI CII, DI
Options :
686340169589. 1
686340169590. 2
686340169591. 3
686340169592. 4

Question Number : 98 Question Id : 68634042935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 11 gl 11 9 fHar Sifeu
Tl 1 SR T 11 91

A [FERW 1 [a

B. [@Td L[4

C. |3 gH il ARG

D. [oxa 1v. [dal

FafdRad faeedl © 9 98l 3R &1 94 Sifo ;

1. A-I. B-II, C-III. D-IV

[ ]

AL B-L C-IL, DIV
3. AT B-IIL C-IV, D-I

4. ATV, B-1 CII, D-III
Options :
686340169589. 1
686340169590. 2
686340169591. 3
686340169592. 4

Question Number : 99 Question Id : 68634042936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Place of Birth Atistes
A |Banaras 1. |Palghat Mani Atver]
B. [Kerala IT. JAnokhe Lal Mishra)
C. |Gwalior ITI. |Parvat Singh
D [Devwaria IV |Pagal Das

Choose the correct answer from the options given below:

1. A-L B-II, C-IIL, D-IV

[ B

AL B-1 C-TIIL DTV
3. AL B-IV, C-I1, D-I

4. ATV, B-IIT, C-1, D-TI
Options :
686340169593. 1
686340169594. 2
686340169595. 3
686340169596. 4

Question Number : 99 Question Id : 68634042936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 11 gHl 1 9 fiae Sifen

T 19 R 11 FATHR
A [ERY 1. [OTeTdre /it 3ER
B. [ga 1. |31 are oy
C. faroax 111 [qdd &g

D. [gafa IV. [OrTeT g9

Fafaiad [doedl § O Ual 3R &1 944 DIl

1. A-L B-II C-IIL, D-IV

[ ]

CA-IL B-1 C-TIIL, DTV
3. AL B-IV, C-I1 D-1

4. ATV, BIII C-1.D-I
Options :
686340169593. 1
686340169594. 2
686340169595. 3
686340169596. 4

Question Number : 100 Question Id : 68634042937 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI(Taal) |LIST II (Matra-Vibhaga)
A [Dhamar I. [7-3
B. [Tilwada II. [10-5
C. |Sulfakta III. |14-4
D [Tevra IV |16-4

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

[ ]

AL B-IV, C-11 D-I
3. AL B-IIL C-L D-IV

4. ATV, B-II, C-I1I, DI
Options :
686340169597. 1
686340169598. 2
686340169599. 3
686340169600. 4

Question Number : 100 Question Id : 68634042937 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 11 gl 11 9 fHar Sifeu
I (A [ 1 (AR

A JrmR L 73

B. [focmarst I [io-s

C [gawmar  [m 144

D [dau V. [16-4

FafdRad faeedl © 9 98l 3R &1 94 Sifo ;

1. A-I. B-II, C-III, D-IV

[ ]

AL B-IV, C-11L D-I
3. AL B-IIL C-L D-IV

4. ATV, B-II, C-I1I. DI
Options :
686340169597. 1
686340169598. 2
686340169599. 3
686340169600. 4



